—. EEHE
1. BEMRELH: 4 ~14 (EE#HE: 6824 ~8671)
2 BFgE. 2BF
3. BFEE: 700mm
4 HitEE: 350 ~ BO0mdrmin
5 HiAERFETEHRE=SE):
A00=1100mmEES00mm) pd00=1100mm{EES00mm)
qa00=1100mm(EE300mm) pB00:= B0 M (EE S0 )
qE00=1100rmm(EES00mm) i lE00= 1 100 mr(EES00mm)
B #ilbEFE T (HiE=EE):
p350=1100mm (ZEA00rm ) 00 1100 rryafERBE0 rrm)
a00=1100mmiEEs00mm) gBE0D= 1100mm @1 200m m)
b Het: 6~84F
7. EBH: 7.8 kw dp (R EE)
8. FEELERAN: 1.7kw 2p
9. ¥EEEM: 0.2 kwdp
10, #1884 E. 2800 kg
1. AR RS 2590=1000=1799mm
12. BEBEE: 1540mmai1730mm
13 BiE: Z4HACIE0V £10% A0HZ, BESZFE. 10 KA
14 BiESE.: WIUSTERLFUSGE RERERRSEER



